CCSS Algebra 1 Point-Slope Form Name:

The point-slope form of a linear equation is:

A= m (X=x,) + by,

where m is your slope, and (x,, ¥,) is a point on the line.

Let's do some examples together:
1a. Write an equatlon of a line in_point-slope form that has a slope(@wd passes through

the point (1,-4). UB“:; B fix D % )
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3. Write an equation of a line in point-slope 4. Graph the equation y + 1 = 2(x - 1).
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Find the slope of the line that passes through the given points. (Hint: What's the formula to find slope?)

1. (6,10), (4, 1) 2. (=2,5),{7,12) 3 (=3,-3),(5,-2)
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Write an equation in point-slope form of the line that passes through the given point and has the

given slope m.
4.(2,2);m=5 5.(7,3,m=-1 {0,-4);m=3
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Graph the equation.
10, y- 4 Z(X 1) 11. y 1 3(x+2) —5=—1(x—4)
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